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Question 1.Select the related word/letters/numbers from the given alternatives:
30 T el ¥ § Yl g/ 31erlden & gl
Electric Current : Ampere :: Weight : ?

fagaa vame : YERR :: UR : ?
Options:

1) Scale

2) Kilogram

foamm

3) Commaodity

ay

4) Measurement
g

Correct Answer: Kilogram

Candidate Answer: Kilogram

Question 2.Select the related word/letters/numbers from the given alternatives:
30 T et o  YafAT Wsg/31erlTem & gl
ACXZ : BDWY :: CEVX : ?

Options:
1) DFUZ

2) DFUW
3) DGUW

4) DFUV
Correct Answer: DFUW
Candidate Answer: DFUW

Question 3.Select the related word/letters/numbers from the given alternatives:
23 T Rl & O T 21ea/31&Rl/TRT B g

37:65::50:7?

Options:

1) 75

2)79

3) 82

4) 87
Correct Answer: 82
Candidate Answer: 82
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

fafared oy & fou e et & & favm ree/sieR/d@m &1 gt ?
Options:
1) Thermometer

2) Barometer
3) Diameter

4) Hygrometer
Correct Answer: Diameter

Candidate Answer: Diameter

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.
fafafted uy o fou e et & & favm ree/sier/d@em & g ?
Options:

1) JF

2) UQ

3)PL

4) XS
Correct Answer: XS
Candidate Answer: XS

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.
frafied uy & iU U fAeweat & ¥ fawd 2re/sier/TRem &1 9T ?
Options:

1) 46-52

2) 56-62

3) 66-72

4) 76-84
Correct Answer: 76-84
Candidate Answer: 76-84

Question 7.Arrange the following words as per their order in the dictionary

fafifed wsal @ Yrsgdi & T 7T A & SR fafee 2

1. Embody 2. Embrace 3. Embitter 4.Emblem 5. Embroidery
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Options:
13,4251
2)4,2,5,1,3
3)4,1,2,5,3

4)3,4,1,2,5
Correct Answer: 3,4, 1, 2, 5
Candidate Answer: 3,4, 1, 2,5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._
frofoiad vy o v srgww foar man 8, o o ue g 31 iU e st ¥ a5 Ot fAdey 9T S o/geH Bl g aw ?

CBA, FED, IHG, LKJ, ?

Options:

1) PRT

2) VUT

3) ONM

4) ZYX
Correct Answer: ONM
Candidate Answer: ONM

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
Foffed vy ot orgw fear T &, o O Ue g 1 3T T fawedt § 4 97 ue fdwed g S oo h Bl QAN ?

6, 12, 36, 144, 720, 4320, ?

Options:

1) 30420

2) 30240

3) 31240

4) 32240
Correct Answer: 30240
Candidate Answer: 30240

Question 10.Introducing a woman, a man said "Her mother is the only daughter of my mother-in-law". How is the man related to the woman?

T A o1 aReT 33 §UIRY A $gl, " b IT! 911 A8 I Y U 96 T 71" I3 1 A & Iy F ey § ?
Options:
1) Son

kgl

2) Brother
3) Husband
i

4) Father
Correct Answer: Father

Candidate Answer: Son

el

Question 11.Five children are standing in a row. O is third from M who is standing left of N, and P is on the left of Q who is fourth from N. What is the position of P
from right?

U T T U A WS &1 0, M A AR S, SN & Sff SR WST21 P, Q & it 3R E, SN Y T 81 griff SiR ¥ P o1 WH SH-A 8 ?
Options:

1) Third

Rt

2) First
ggdl

3) Fourth
)

4) Second
QT

Correct Answer: Second

RN
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Candidate Answer: First
Ugall

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

Fofofed faewedt & ¥ 95 Tes IFT i AT T 21sg & 18R BT TART B3 -Ta] ST ol Tohall ?
INTELLIGENCE

Options:
1) GENTLE

2) TEEN
3) GREEN

4) ENGINE
Correct Answer: GREEN
Candidate Answer: ENGINE

Question 13.If "GOAT" is coded as "HPBU" , then how will "FROG" be coded as?

TR 'GOAT' ! {5t Bis H 'HPBU'TERAT ST 9T 81 @l 'FROG' B1 I IS H T ferar Simawm 2
Options:
1) GSPH

2) PHSG
3) GSHP

4) PSHG
Correct Answer: GSPH
Candidate Answer: GSPH

Question 14.In a certain code language, '@’ represents '+', '@’ represents '-', 'a' represents '+' and '0' represents 'x' . Find out the answer to the following

question:

foft Pls U F @ HTHATE + 8, @ AAWS - 8, a BT AGS + 7, 3R 61 Aqed x 3| o Fafoiad ue &1 IR vl
89000100564 121a11 = ?

Options:
1) 58

2) 62
3) 158

4) 205
Correct Answer: 58
Candidate Answer: 58

Question 15.Some equations are solved on the basis of a certain system. On the same basis, find out the correct answer from amongst the four alternatives to the

unsolved equation

T THIHR0 TP P vomeh I 5 iy e 7 | S SR IR 5@ 7 5% T Uy 1 57 IR U Y Apent # ¥ T SR g ?

1x2x3=231
3x4x5=453
5x6x7=7?

Options:
1) 657
2) 675
3) 756

4) 765
Correct Answer: 675
Candidate Answer: 675

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87
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Question 16.Select the missing numbers from the given alternatives

U U et # g i T B ?
4 3 6
3 5 4
2 2 3
14 16 ?
Options:
1) 12
2)18
3) 20
4) 30

Correct Answer: 30
Candidate Answer: [ NOT ANSWERED ]

Question 17.Rajneesh started walking towards North. He took a left turn after walking 20 metres. He again took a right turn after walking 30 metres. Which direction
is he facing now?

TSI 7 SR BI R I YR ATl 98 20 Hiex IeH F a16 918 G 11 30 Hiex 9@ & a1 a8 R 9 &f8 3R T3 7Tl 39 9T I9@T Je [ o= d § 2
Options:

1) North

IR

2) East

3) West

4) South

L

Correct Answer: North
3R

Candidate Answer: North
3R

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All books are trees. 2. All trees are lions. Conclusions: 1. All books are lions. II. All lions are books. III. All trees are books IV. Some lions are
books.

Pufied uy & ue a1 3l godey @A T 8, e o) IR Rps/ARIdIy, 1, 11, 111 3R IV e T €1 3ueh! fdaR &1 @ o aeded I § 918 98 9Maa: 9id 9t 4
st gl giar 811 3yt iy &1 § 6 fRT 1 gaqen § ¥ wH-a1 AR U T I8} e s/arar R s g § 2

qaded : 1. 9 g g4l B
2. @ ger W7

=y : 1 Wi s WR
11 Tt 3R g g

111 3 g8 g B

IV % IR P o

Options:
1) Only conclusions I and III follow
fspt 1R 111 W R
2) Only conclusions I and IV follow
Paa wpd I 3R IV It 71
3) None of the conclusions follow
IS ot Frp e Tl AT B
4) All conclusions follow
i frspy T 21
Correct Answer: Only conclusions I and 1V follow
Had s 1 3R 1V T R
Candidate Ans%wer: All conclusions follow
|
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Question 19.In the given cube, which colour is opposite to Blue?

Uy 3epfa & ek & I SH-MATF ?

Green Blue Vialet il low

Green
Blue
Winfat

Red Red Red Red

Yiellcw

Options:
1) Green
&I

2) Red

o

3) Violet

ST

4) Yellow

Correct Answer: Yellow

Candidate Answer: [ NOT ANSWERED ]

Question 20.Identify the relationship that best represents the relationship among classes given below:

Ig 3T Td=T o Fofaiad A0 & f uel ey B exfar gl

Professors, Women and Clerks

Options:

1)

i T |
O )
ey

2)

/ 5T
X /

4)

Correct Answer:
/ N

YA,
Candldate Answer:
;,W /”“\
\ ,/ \
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Question 21.Which answer figure will complete the pattern in the question figure?

DHH-U IR Bl Ty 3P F ufaey & g1 Huft

1IN
NG | //
1/ -
A .
4 1 '
LA

Options:
n
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Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& T IR il T A IY IR Ml B gAY e vy ey FAlka R 2

Options:
1)
2)
1
| %Py |
3)
4)
|
T
Correct Answer:
1
| ]
Candidate Answer:
1
| ]
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Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.
Ife; {5t BT o) R 3 Uy % SR HigaR Il 9 o Widn & a6 98 6 SR S o fewars 2 2

T71 TT
I

nd Fold

Jroomp U — g —
i

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

T T U FHT MN YT TR T oY oY Y 718 SR SNpfadl &  HH-T 3Mpid U Sepfay 1wt wfafare gt 2

v/ /S /s N

Options:
1)

2)
b
,%
i
3)
P25
i
4)
=
S5
St
Correct Answer:

St

Candidate Answer:

&

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87 10/29
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Question 25.A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5
to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'D' can be represented by 01, 13, etc., and 'H' can be represented
by 55, 67, etc.

Similarly you have to identify the set for the word 'LIKE'

e vy o v Wsg Had U G- T RT SRMT T 8, oh b fasedt & 9 fbt ue o famn o B 1 fased B fau T e - g S1eRi & <l 9l gRT GRIE T g,

S o < 3w e € Syt § B 1 SiTogg 1 & Wy SIR Ul B TR 0 W 4 9 € TS § SR SR 11 B 5 W 9 O I MSIGH F TP 3HeR Bl Ugd IUD! Ufed 37K 18 o

%mgmﬁmm;w%mw%m D &1 01, 13, 31 GRT <RI W1 bl § AT H Y 55, 67, 31 GRT <A ST el B | S R T MU AT Weg; 'LIKE
TG P! UG 8|

MATRIX | MATRIX Il
0o (1 |2 |3 |4 5 |6 |7 |8 |9
0 |C D |E |F |G 5 |H |K |L |I |N
1 |F |6 | |D |E 6 |1 [N |H [K [L
2 |D |[E |F |G |C 7 |K |L (1 |N |H
3 |E |F |6 |€ |D 8 |L (I |N |H [K
4 |6 |€C |D |E |F g [N |H [K |L |I

Options:
1) 56, 58, 03, 02

2) 57, 65, 62, 02
3) 56, 62, 03, 02

4) 57, 68, 40, 02
Correct Answer: 57, 65, 62, 02
Candidate Answer: [ NOT ANSWERED ]

Question 26.What is 'net neutrality'?

" gIferel” T g ?

Options:

1) Internet Service Providers and governments should treat all data on the internet equally

Za3e AT YSIAT UMY (ISP) 3R TRBRI Bl gede | U o It Gt STeT & T GHH 30 ¥ HagR BT ey
2) Piracy in internet must be curbed

gexAe # 33y T B AT 1Y

3) Internet users must give out balanced opinions in social media sites

ZexAe IUHITT ! o AT IR Igfad ufdfesar / fewoft S =nfgul

4) Internet should be kept free from malware and virus

IS 3R BHHRE AAAIR MR TERY T §e-c Bl Jad G M8y

Correct Answer: Internet Service Providers and governments should treat all data on the internet equally
g JaT USIaT HUHal (ISP) 3R IRPBRI Bl Se-e | U TH et I+t STeT & I HF ¥U ¥ AR BT IeT
Candidate Answer: Internet Service Providers and governments should treat all data on the internet equally

geTe JaT YSrT HUHE! (ISP) 3R IRBRI Bl Sexe B Ul wH a1a It S1eT & 9y TA 3U J FIER HAT ey

Question 27.Excise duty is levied on

ITE Yoo fadd TR TR STl & 2
Options:

1) sale of goods

& fat )

2) production of goods

A & 3G R

3) import of goods

T & S| TR

4) export of goods

o & Fafa m

Correct Answer: production of goods
T & SIE IR

Candidate Answer: import of goods
A & 3T TR

Question 28.Golden Revolution in India refers to growth of:

ol i ! Sod 1§ Bt 82
http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87 11/29
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Options:

1) Militancy in the north-east.
IW-E H ITAIG

2) Oilseeds production
- BT I

3) Horticulture

4) Increased importing of gold

IH & | H Sgd

Correct Answer: Oilseeds production
qd-siiet BT Ida

Candidate Answer: Oilseeds production
Aq-diel &1 Ide

Question 29.Water is used in a hot water bag because

TRA SG-87 H STe BT ST e S § i
Options:

1) It is easily available

TE AT firdar §

2) It has high specific gravity

3@ AR Ty e 8

3) It has high specific heat

Jua! fafdy e e §

4) Itis a liquid substance

98 U kel U §

Correct Answer: It has high specific heat
I AR FoT wameT §

Candidate Answer: It has high specific heat
Iua! fafy e e §

Question 30.What is the meaning of "Public Interest Litigation"?

SHfRd wifereT &1 Aded T 8?2
Options:

1) Anything of public interest
Fo off forad

2) A case brought by victim to court, involving public interest.
vifed Safad gR Srafad & SHigd o Ar -1 GabadT

3) A case brought by anyone to court involving public interest.
forl afaa g srerera § SHfgd & arn T et

4) A directive issued by Supreme Court involving public interest

Yol <me gRI SHgd H SR fbar mar

Correct Answer: A case brought by anyone to court involving public interest.
fordll rfaa T sreed § ST H A T GhaHT

Ca\pdidate Answer: A directive issued by Supreme Court involving public interest
Hafed =AmTed gR1 Sied § SR b T e

Question 31.Who referred to Mahatma Gandhi as "Father of the Nation" for the first time?

HeTe el 1 Ted Ugel "Igfar & T 9 fhe S faar ur
Options:
1) Jawaharlal Nehru

TATERAd A8
2) Sardar Vallabh Bhai Patel

WER JH HTS T
3) C. Rajgopalachari
EIRENIBIEIEIN

4) Subhash Chandra Bose

U S

Correct Answer: Subhash Chandra Bose
U= a9

Candidate Answer: [ NOT ANSWERED ]

Question 32.Which title, given by the British Government to Mahatma Gandhi, was surrendered during the non- cooperation movement?

3 (fofeen) TRBR R AT M Y € 1S B A Ued e siicieH P THY dier < TS o

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87 12/29
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Options:
1) Hind Kesari
e el

2) Rai Bahadur

I d8TIgr

3) Rt. Honourable

RIS EEK|

4) Kaiser-e-Hind

IPR-ufig

Correct Answer: Kaiser-e-Hind
Fw-ufie

Candidate Answer: Rai Bahadur

REEEIF
Question 33.The temperature of a liquid is 32° F. What is its temperature in Celsius scale?

e T aRa Yarf o1 agAM 320 F § O ARy & 39T agHH e 82
Options:
1)32°C

2)0°C
3) 100°C

4)212°C
Correct Answer: 0° C
Candidate Answer: 212° C

Question 34.The point where total mass of a body is supposed to be concentrated is known as

TRR BT 98 HIT o W IRR &7 T YR $i<d BIdT 8, I8 b 1 ¥ I 9 g ?
Options:
1) De;ad centre

2) Centre of mass

TR 1 T

3) Centre of gravity
it

4) Centre of motion
A

Correct Answer: Centre of mass
IR 3i1h A

Candidate Answer: Centre of gravity
e offep At

Question 35.Which part of brain is also known as "little brain"?

TRTSh & P TR B "Ag AT "D A § 4 ST S § 2
Options:
1) Cerebrum

2) Cerebellum
BRE R
3) Thalamus

YIAHH
4) Hypothalamus

Correct Answer: Cerebellum

Candidate Answer: Thalamus
YTeTHY

Question 36.Which organism is responsible for alcohol fermentation?

BT ST SehIge fhUa Bl § ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87 13/29
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Options:
1) Chlorella

2) Yeast
e (THR)
3) Agaricus

4) Puccinia

Correct Answer: Yeast
e (TR)

Candidate Answer: Agaricus

Question 37.Which of the following groups of rivers have their source of origin in Tibet?

foffed & 9 o 7<) wqgl & fisa § S 8T g 2
Options:

1) Brahmaputra, Indus & Sutlej

Y, Riy 3R Taae

2) Ganga, Sutlej & Yamuna

T, e 3R

3) Brahmaputra, Ganga & Sutlej

TG, T 3R el

4) Chenab, Ravi & Sutlej

faa, it SR S

Correct Answer: Brahmaputra, Indus & Sutlej
T, Riy SR Faqas

Candidate Answer: Brahmaputra, Indus & Sutlej

g, Ry 3R e

Question 38.The most ideal region for the cultivation of cotton in India is

DU BT Jft & T URT T T8 I U B 82
Options:

1) The Brahmaputra Valley

SR Tt

2) The Deccan Plateau

Gdh BT USR

3) The Indo-Gangetic Valley

-7 et

4) The Rann of Kutch

M 31 B

Correct Answer: The Deccan Plateau
GQdhT BT USR

Candidate Answer: The Deccan Plateau
Qdh DI TSR

Question 39.Where do the electrical charges reside in a charged conductor?

foreht smafa Haress uerd & fagad wife #gi @<t 82
Options:
1) at the core
Dot urT
2) throughout the body
;WRHA

3) depended upon the nature of the body
IRR B UHA R R a=A T

4) outer surface of the body

STEd g W

Correct Answer: outer surface of the body
el Teg R

Candidate Answer: at the core

Frg urT o
Question 40.The colour of the ocean appears to be blue because the sunlight falling on it is

g o1 7 et fexgar  Fiifer 39 SR FRA archt 3 @t fawur &1 TR |

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) reflected

2) refracted

3) diffracted
faadH

4) scattered
PEHE]
Correct Answer: scattered

Candidate Answer: scattered

Question 41.In which mode can the computers that are associated send frames directly to each other?

e a=m (Hie) & Yeifid SweR T gk &1 A Y A9 99 | ?
Options:

1) Adhoc mode

Tsgle WS

2) Infrastructure mode

TTPTEFR HIS

3) Structured mode

43 Anonymous mode

Correct Answer: Adhoc mode
TSEid OIS
Candidate Answer: [ NOT ANSWERED ]

Question 42.What was the immediate cause of the Mutiny of 1857?

1857 1 Shifd T dleplicics BRUT T T ?
Options:
1) The discontentment of the soldiers
Y ar
2) The use of greased cartridges in the new Enfield Rifle
TIhies IEHA H aRa TR el b1 SuanT

3) The social conditions of India
URA B AT ST
4) The introduction of railways and telegraphs

I 3R TAE B Y3

Correct Answer: The use of greased cartridges in the new Enfield Rifle
TS T IeS IR B dRal At Mt 1 SuAnT

Candidate Answer: The social conditions of India
URA B! 1T 3w

Question 43.Who introduced the "Doctrine of Lapse" to expand British territories in India?

URA H fHfewr I & am & I ¥ fbem el $ffth e Ry @n] far ur
Options:

1) Lord Hastings

dls grafe

2) Lord Wellesley
TS Jorett
3) Lord WiIIia.m Bentinck

NISACINCEEIRED

4) Lord Dalhousie
S SRl
Correct Answer: Lord Dalhousie

Candidate Answer: [ NOT ANSWERED ]

Question 44.HRIDAY scheme launched by Urban Development Ministry aims at

e R HATad gRI "ged” AisiT o B BT I 3T 82

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87 15/29



9/23/2016 Staff Selection Commision

Options:

1) Education of girl child

Sl o fRen

2) Development of smart cities

e e BT fap™

3) Urban sewage treatment

TR 7 TR

4) Development of heritage sites
i R W@ Rl &1 o™

Correct Answer: Development of heritage sites
i R T Wl BT [dbry

Candidate Answer: Development of smart cities

W el BT [dpry
Question 45.Global warming is expected to result in

el T & g & 7 aRom efeE § 2
Options:

1) Increase in sea level

Tl TR H gis

2) Change in crop pattern

Hueh H gaad

3) Change in coastal line

dc W ¥ gead

4) All of these

it e T 8

Correct Answer: All of these

i e a8 8

Candidate Answer: All of these

it RpeT &

Question 46.Who appoints and dismisses the gazetted officials of the Union Government?

Ty TRBR F IS il B Fafifed § 9 $F g SR safied &R 9 g ?
Options:

1) The President of India

URA &

2) The Prime Minister of India

URA & T T

3) The Home Minister of India

URA & T8 Tt

4) The Finance Minister of India

UYRd & fog o=t

Correct Answer: The President of India
HRd & gufd

Candidate Answer: The President of India
HRd & AFUd

Question 47.The industry having the largest investment in Indian Economy is?

YR srforaed & Fafifad & 9 o 3 & e sl o fiar mar g »
Options:

1) Tea

I

2) Cement

3) Steel

BRG]
4) Jute
ey

Correct Answer: Steel
BRI}

Candidate Answer: Steel
BRI}

Question 48.Ajanta Ellora Caves are situated near which of the following cities?

3T iR 1 T Rofeiad & 3 S J 28R & U R 82

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:

1) Mount Abu
T3 3f1g

2) Aurangabad

3) Bijapur
4) Madurai

Co.rrect Answer: Aurangabad

Ca‘ndidate Answer: Aurangabad

Question 49.Which of the following is a name of US Parliament?

ARG TG BT TH FE ?
Options:

1) Diet

Slkc

2) Senate

dHe

3) Congress

4) House of Commons
BI3Y 3 h[H
Correct Answer: Congress

Candidate Answer: Senate

Question 50.Charles Correa is a renowned Indian

Tred BT T HRAT e gl
Options:

1) Freedom fighter

EERERIRSEIBil

2) Painter

3) Architect, urban planner

TRIHR, TR TIeHT AR (WR)

4) Award winning doctor

QP d Sidex

Correct Answer: Architect, urban planner
IRGHR, TR AT IR (W)
Candidate Answer: [ NOT ANSWERED ]

Question 51.A father can do job as fast as 2 sons working together. If one son does the job in 3 hours and the other in 6 hours, the number of hours taken by the
father, to do the job alone is

T T I STee] el o Bl R Wbl § et STect 39 ol ot fIae) R abd § | Afg T 92T 3 U0e | BT I THal § 3R GIRI 6 U0 | Ix IHal § dl 39 S|
B B B U BT T T0 T 2

Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: 3

Question 52.The perimeter of a rhombus is 240 m and the distance between any two parallel sides is 20 m. The area of the rhombus in sq.m. is

% TGS BT URAY 240 . § 3R 58t & TmieR yomeft & &g &t gt 20 M. §1 THAgL &1 &% fha FHieR § 2
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Options:
1) 600
2) 1200
3) 2400

4) 4800
Correct Answer: 1200
Candidate Answer: [ NOT ANSWERED ]

Question 53.A man sold an article for Rs. 450, after allowing a discount of 16 2/3 % on the printed price. What is that printed price?

U e J g Ged W 16 2/3 % B FE & & dIg BIs a%] Rs. 450 F 9| Gfekd I b g 2
Options:
1) Rs.525

2) Rs.530
3) Rs.535

4) Rs.540
Correct Answer: Rs.540
Candidate Answer: Rs.525

Question 54.A sum of Rs. 770 has been divided among A, B, C in such a way that A receives 2/9 th of what B and C together receive. Then A's share is

Rs. 770 &I A,B,C H 39 YR faHiiord fbam mar § & fSramm ¢4 B 3R ¢ o) fireiens fire S5e1 2/9 a7 iewem A 1 firal| A o1 feean fba g 2
Options:
1) Rs.140
2) Rs.154
3) Rs.165

4) Rs.170
Correct Answer: Rs.140
Candidate Answer: Rs.170

Question 55.A man bought 4 dozen eggs at X 24 per dozen and 2 dozen eggs at X 32 per dozen. To gain 20% on the whole, he should sell the eggs at

T 3MTH A 4 o 3US T 24 TR GOl IUT 2 Toi 3HUS % 32 U goi & UId T W | T 31US] TR 20% T AH U I F AT I8 3708 Bl ot U1g oR = 2
Options:

1) X 16 per dozen

% 16 Ufd oA

2) X 21 per dozen

% 21 Ufd TolF

3) X 32 per dozen

% 32 U goid

4) X 35 per dozen

% 35 Ufd ol

Correct Answer: X 32 per dozen

z 32 fd oA
Candidate Answer: [ NOT ANSWERED ]

Question 56. P's salary is 25% higher than Q, what percentage is Q's salary lower than that of P?

P T I Q & A J 25% 3T &1 Q BT I P % Ia A a1 % HA B ?
Options:
1) 20

2) 29
3) 31

4) 331/5
Correct Answer: 20
Candidate Answer: 33/5
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Question 57.A and B start running at the same time and from the same point around a circle. If A can complete one round in 40 seconds and B in50 seconds, how
many seconds will they take to reach the starting point simultaneously?

A 3R B & 81 97 W 3R & 81 g ¥ I & IRY SR ST Y& X 51 MG A T IaHhR 40 YHUS # T 3R B 50 VHUS H TN, 1 I YR fig R T 9y
ygd H foraH 997 @ 2

Options:

1)10

2) 200
3) 90

4) 2000
Correct Answer: 200
Candidate Answer: 2000

Question 58.

1_1 e
[fx_ﬁ == the value of 3x (x = 18

aﬁx—%=%ﬁ'.?ﬁ3x{x— ;—T}EFFWW% 2

Options:
1)-1

2)1
3)-2

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 59.
1 1
If P =3+ —, thevalueaf p*+— is:
P p

afgp = 3+% E‘ra‘rp++%aa‘rmﬁ'w%?:

Options:
1)81

2)27
3) 120

4) 119
Correct Answer: 119
Candidate Answer: [ NOT ANSWERED ]

Question 60.AABC is an isosceles triangle with AB = AC = 15 cm and altitude from A on BC is 12 cm. Length of side BC is

AABC U HfgaTg ByS & forgest AB = AC = 15 .41, 3R BC R A ¥ i @ 12 9.7, 81 Y1 BC &I THaTs a1 & ?
Options:

1)9cm

9 3.1,

2) 12 cm

12 9.

3) 18 cm

18 4.4,

4) 20 cm

20 9.4,

Correct Answer: 18 cm

18 T,

Candidate Answer: 18 cm

18 .1,
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Question 61.The mid points of AB and AC of a triangle ABC are respectively X & Y. If BC + XY = 12 units, then the value of BC - XY is:

U BYS ABC & AB 3R AC & Hel farg ST X TR Y 81 3f& BC + XY = 12 gfe §I a1 BC - XY &1 AH fba 8 2

Options:
1) 2 units

29

2) 6 units

6 gf1e

3) 8 units

8 gfHe

4) 4 units

4gfe

Correct Answer: 4 units

4gMAe

Candidate Answer: [ NOT ANSWERED ]

Question 62.
Whichof the following relations is correct for 0 < 8 < 90°7

0 < & = 90° % [oIT THF=A ol # & Thi=1-H1 Tl 95ie 7

Options:
1) sind = sin6

2) sinb < sin?8
3) sind > sin%6

4) sinb = cosecd
Correct Answer: sinf > sin20
Candidate Answer: [ NOT ANSWERED ]

Question 63.The difference between two numbers is 9 and the difference between their squares is 207. The numbers are

< GBIl & i AR 9 § IR I Il & s 3ck 207 81 TS AR ?
Options:
1)17, 8
2) 16, 7
3) 15,6

4) 23, 14
Correct Answer: 16, 7
Candidate Answer: 16, 7

Question 64.The average of 20 numbers is calculated as 35. It is discovered later on that while calculating the average, one number, namely 85, was read as 45. The
correct average is

20 Tl 7 3ia 35 TReferd fbar Tar § 1 s1e # I8 31 T i 3N 7 uRea $Ra THT U ST 85 I Tt J 45 TG I AT| Tgt 3fd g ?
Options:
1)36

2) 36.5
3)37

4) 37.5
Correct Answer: 37
Candidate Answer: 37

Question 65.If X2 - xy + y2 = 2 and x* + x2y2 + y* =6, then the value of x2 + xy + y2 is:

TREx2 -xy +y2 2 3MRxF + 32 +y =6 AR + xy + Y2 BIHAA TR ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjg=&appid=1a4fff78943b24af40c79deccf09bb87 20/29



9/23/2016 Staff Selection Commision

Options:
1)1

2)12
3)3

4) 36
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 66.If a2 + 13b2 + ¢ - 4ab - 6bc = 0, then a:b:c is

T a2 + 13b% + 2 - 4ab - 6bc = 0, W a:b:c PTHF AR ?

Options:
1) 1:2:3

2)2:3:1
3) 2:1:3

4) 1:3:2
Correct Answer: 2:1:3
Candidate Answer: [ NOT ANSWERED ]

Question 67.The circum-centre of a triangle ABC is O. If 2BAC = 85°, 2BCA = 75°, then 2OAC is of

% YW ABC &1 U= 0 §1 A 2BAC = 859, BCA = 75°, @ OAC faramT gFm 2
Options:
1) 70°

2) 720
3) 750

4) 74°
Correct Answer: 70°
Candidate Answer: 70°

Question 68.Radius of the incircle of an equilateral AABC of sides 2V/3 units is x cm. The value of x is
2V/3 gfT 9Td U GHETg AABC & 3id I &l s x Al 8 A x HT A F1E 2

Options:

1) 5

2) >

3)1

4) V3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 69.
If tand 8.tan7 & = 1,then the valueof tanld + 36%) is

A7 tan3 6. tan? # = 1, BT Altan(d + 36°) FTHA FT5 ?

Options:
1) Yy;

2)0
3)1

4) V3
Correct Answer: 1
Candidate Answer: 1
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Question 70.If the angle of elevation of a cloud from a point 200 m above a lake is 30° and the angle of depression of its reflection in the lake is 60°. Then the height
of the cloud above the lake is

I e gitd F 200 W FR F g T Ted BT I=157 B0 300 SR A H IHP Wi BT 3af BT 60° §Y, A A F FHWR Ted B SHaTs fael g ?
Options:

1) 100 m
100 .
2) 200 m
200 .
3)300m
300 .
4) 400 m
400 .

Correct Answer: 400 m
400 .

Candidate Answer: [ NOT ANSWERED ]
Question 71.The difference between the simple interest and compound interest (compounded annually) on Rs. 40,000 for 3 years at 8% per annum is

8% Ufaas @ <R TR Rs. 40,000 BT 3 T4 P YR ST 3R Thglg sl (R wfas Taifre faan Sirar g1 &7 ofaR fbam @ 2
Options:

1) Rs.684.32
2) Rs.788.48
3) Rs.784.58

4) Rs.4000
Correct Answer: Rs.788.48
Candidate Answer: Rs.784.58

Question 72.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions

frfifed - & 9 1994-96 § AR == B TR T IR0 =TT T § | UTS-TTE BT LT By 3R FAfefad Ut &1 IR <iferg |

]
2
g
o
2
8 =
2
a
a
Language disorder Auditory disorder
B57 871
Speech;:order Voice disorder

222

Find the approximate percentage distribution of children with auditory disorder.

ST SEfT ATt Sedl BT SATHT Tf=Id faaRor J1d Hiforg ?
Options:
1) 43.7%

2) 42.7%
3) 41.7%

4) 40.7%
Correct Answer: 41.7%
Candidate Answer: 41.7%
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Question 73.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.

ffifed us-are & av 1994-96 T A=W seat & S HT AR S=ITaT T § | UIS-TE BT Sege Bif SR e U=el a1 SaR G |
2
2
ok
]

8 =
£
&
)
Lenguage disorder Auditory disorder
857 871
SWEChzgi‘;Ofde' Vaice disorder

222

¥ 1994-96 H f3ft=1 UHR & RN st Y e Te fovat @2
Options:
1) 417

What is the average number of cases in different types of special children during the year 1994-96.
2) 413
3) 433

4) 465

Correct Answer: 417
Candidate Answer: 417
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Question 74.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.
fffe us-ard & av 1994-96 T A=W s &) S-<e $1 fadRor c=ifar T4 B | US-an &7 SiegeH Bifo SR AT uxAr o1 Sar i |
~7il =
2
2
o
3
8 =
2
[=9
)
Language disorder Auditory disorder
657 871
Speech disorder =
275 Voice dizorder

222

Find the ratio between articulatory disorder and speech disorder cases.

JIRT 1T 3R T ST AT Sredil & &g ST i BTy ?
Options:

1) 21:55

2) 55:21

3) 55:12

4) 12:55

Correct Answer: 12:55
Candidate Answer: 12:55

Question 75.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.

fefifad us-=d # 9 1994-96 § ALY =2} B ST BT IR =TT 77 B | US-T1E BT T BT 3R FAfiRed 2=t &1 Sk g |

-
2
g
=%
S
s =
g
i
a

Lenguage disorder Auditory disorder

B57 871
Speech disorder o
275
222

What is the ratio between language disorder and the average of the remaining disorder cases.

UTST ST 3TR ST e a1 S| & SN9d T S(uTd a1 82
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Options:
1) 219:119

2) 119:219
3) 919:419

4) 729:529
Correct Answer: 219:119
Candidate Answer: 119:219

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

COPIOUS

Options:

1) VAST

2) IDENTICAL
3) PLENTIFUL
4) MESSY

Correct Answer: PLENTIFUL
Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

EXTRANEOUS

Options:

1) UNUSUAL
2) DISPIRITED
3) RELEVANT
4) INTRUSIVE

Correct Answer: RELEVANT
Candidate Answer: INTRUSIVE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) discripency

2) discripancy

3) discrepancy

4) descripancy

Correct Answer: discrepancy

Candidate Answer: discripency

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The Statesman has(A)/the largest circulation of any (B)/English dailies.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

A period of six years(A)/ have elapsed(B)/ since I last saw her.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

For several years now(A)/my newspaper agent has been spelling(B)/my name in correctly.(C)/No Error(D)
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Options:
1)A
2)B
3)C
4)D
Correct Answer: D
Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

One of the reasons the impressionists caused such a scandal was their colours were too bright.
Options:

1) because of which

2) due to

3) because

4) of

Correct Answer: because

Candidate Answer: of

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She must sometimes to run away.
Options:

1) has wanted

2) have wanted

3) having want

4) has want

Correct Answer: have wanted
Candidate Answer: has want

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The bank decided to them the money as they were reliable clients.
Options:

1) let

2) lend

3) borrow

4) lease

Correct Answer: lend
Candidate Answer: borrow

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Smooth ruffled feathers
Options:

1) Comb untidy hair

2) Make people feel less offended
3) Tousle someone's hair

4) Stroke a pet animal

Correct Answer: Make people feel less offended
Candidate Answer: Make people feel less offended

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Assume airs
Options:

1) Take tight

2) Remain calm

3) Act innocent

4) Pretend superiority

Correct Answer: Pretend superiority
Candidate Answer: Act innocent

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Play truant
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Options:
1) Play a tyrant
2) Stay away from duty

3) Be responsible
4) Be alert

Correct Answer: Stay away from duty
Candidate Answer: Be alert

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who studies the working of the human mind.
Options:

1) Anthropologist

2) Psychologist

3) Neurologist

4) Ethnologist

Correct Answer: Psychologist

Candidate Answer: Anthropologist

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Place given to soldiers to live in
Options:

1) Barracks

2) Trench

3) Garage

4) Quay

Correct Answer: Barracks
Candidate Answer: Barracks

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person of South African Dutch descent
Options:

1) Boar

2) Boer

3) Boor

4) Bore

Correct Answer: Boer

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She took the cycle which he bought yesterday.
Options:

1) that he bought yesterday.

2) that he had bought yesterday

3) that he has bought yesterday

4) No Improvement

Correct Answer: that he had bought yesterday

Candidate Answer: that he had bought yesterday

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I must say to a feeling of uneasiness.
Options:

1) confess

2) connive

3) utter

4) No Improvement

Correct Answer: confess
Candidate Answer: utter

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The police booked a case against the taxi driver for wrong parking.
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Options:

1) restricted

2) wrote

3) filed

4) No Improvement

Correct Answer: filed
Candidate Answer: filed

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

One of our students originates from Leh.
Options:

1) comes

2) origins

3) belongs

4) No Improvement

Correct Answer: comes

Candidate Answer: No Improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Scarcely had he left the place when his friend came.
Options:

1) He had scarcely leave

2) He had left scarcely

3) He scarcely had left

4) No Improvement

Correct Answer: No Improvement
Candidate Answer: He scarcely had left

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

The young seagull dived at the fish
Options:

1) maddened by anger

2) maddened by want

3) out of spite

4) out of loneliness

Correct Answer: maddened by want

Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

His heart stood still because he was seized by
Options:

1) a monstrous fury

2) courage

3) a monstrous terror

4) joy

Correct Answer: a monstrous terror
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Candidate Answer: [ NOT ANSWERED ]

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited @ moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

He was not falling headlong but

Options:

1) he was afraid

2) he was soaring downwards and outwards

3) his stomach was full

4) he was joining his father

Correct Answer: he was soaring downwards and outwards
Candidate Answer: [ NOT ANSWERED ]

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

The seagull just felt dizzy

Options:

1) and was filled with fear

2) and was no longer afraid

3) and did not flap his wings anymore

4) and dived lower

Correct Answer: and was no longer afraid

Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

What did the young seagull do when his mother swooped past him?
Options:

1) Let out a joyous scream

2) Screamed at her in anger

3) Made a loud noise

4) Flapped anxiously

Correct Answer: Let out a joyous scream
Candidate Answer: [ NOT ANSWERED ]
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